N of reco track vs dxy N of associated (recoToSim) tracks vs dxy N of associated (recoToSim) looper tracks vs dxy

1%} (%] [%]
x X B4
[*} L o [}
g g 8
3 6 2
E =] ‘(_ﬁ‘
F =10t 8107
r =
10°F 3
2 -
10° 10
10§
[ 10? 1
3 T : # R] 858 . -
o e RS EERs Reco
[° S 1 [ D . 29 1
0of--t--4- Lol PORIRRRI ¢ I
R R A D I R S S
0'—‘25—20—15—10 -5 0 5 10 15 20 25 -25-20-15-10-5 0 5 10 15 20 25 0'—‘25—20—15—10 -5 0 5 10 15 20 25 -25-20-15-10-5 0 5 10 15 20 25
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
N of reco track vs dz [N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
L F L L 2
[=} L Q [=] [5)
g, g s s
T10°F 03 3 o
g g0 £° g
F =
10° 310
3 10? 10?
102 E_
T R 10 10
10f----deemninees Beeees EEREEE :
1H 1 1
9 J.J- 9 1.4 9 1.4 9
3 T 3 s
o - 04 X - o
0.9
0.9F - ] 0.l : . 0.9 ] 1 :Hﬂ' :
| . . . . . . . i . “ .
55 -10 0 10 20 30 %3520 -10 0 10 20 30 86 —20 20 30 -30 10 20 30

track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


